CHAMBERLAIN.

BEFORE YOU BEGIN:

e The trolley must be in down (closed door) position during assembly
and installation. If you have a completely installed garage door opener,
the rail/opener assembly must be taken down. UP and DOWN Limits must
be readjusted after installation.

* Opener hanging brackets will require repositioning and the addition of an
extra bracket for stability due to increased rail length.

IF THIS IS A NEW INSTALLATION:

Use the front (header) rail section, chain/cable assembly, and longer
emergency release rope in this kit in place of those packaged with your
garage door opener. Complete the assembly, installation, and adjustment of
your opener according to your owner’s manual, with the exception of
adding an additional hanging bracket for stability.

IF THIS IS AN EXISTING INSTALLATION, CONTINUE AS FOLLOWS:

1. Pull down on the emergency release handle, then disconnect the trolley
from the door arm.

2. Disconnect the rail/opener assembly from the header bracket and
hanging brackets, and place it on the floor.

3. Remove the outer nut (Figure 1) from the trolley shaft and set aside.

4. Disconnect the two master link assemblies from the trolley (Figure 1)
and discard.

5. Remove idler pulley assembly and set aside.
6. Remove the chain/cable assembly and discard.

7. Push the trolley back toward the opener. Disconnect the front rail
section by using a screwdriver tip to pry up the outer tab on each
side of the rail, then slide it off the center rail. Discard the front rail
(Figure 2).

8. Align the new front rail with the existing rail assembly, keeping the cut
out “window” at the front (header) end. Be sure to keep it right side up:
the idler pulley bolt hole above the window is larger on top of the rail
than on the bottom. Slide the front rail onto the assembly; tabs along
the side will lock into place.

9. Asatemporary stop, insert a screwdriver into the hole 10" (25 cm)
from the front end of the rail (Figure 1). Slide the trolley assembly to
this point.

10. Locate the rail tab. Use a flathead screwdriver and lift the rail tab until
the tab is vertical (90°) (Figure 2).

11. Refer to your owner’s manual to complete the assembly, re-installation
and adjustment of your opener. NOTE: Before hanging the opener, an
additional hanging bracket is necessary for stability. See Adding An
Additional Hanging Bracket on reverse side. (Replace the old emergency
release rope with the new, longer replacement rope.)

12. Reconnect power.

13. Make adjustments and test the safety reversal system according to the
owner's manual.

Eight-Foot Rail Extension Kit
Models 7708CB and 7708CB-P

A& WARNING

To prevent possible SERIOUS INJURY or DEATH:

* Disconnect ALL electric and battery power BEFORE performing
ANY service or maintenance.

CAUTION

The garage door MUST be in the fully closed position during
installation.

WARNING: This product can expose you to chemicals including
lead, which are known to the State of California to cause

cancer or birth defects or other reproductive harm. For more
information go to www.P65Warnings.ca.gov

Figure 1 Master
Master
Link
Front Rail )
Section <] Link g%\\
é c %
0 - <Z
|~
g
) Master
Idler Pulley ) Link

Figure 2

To remove rail pry both
end tabs of front
rail slightly outward

Rail Tab /’
<)
L%

S

NEW
FRONT RAIL

INCORRECT
Rail Tab

Idler Bolt hole
(KEEP LARGER
ONE ON TOP)




ADDING AN ADDITIONAL HANGING BRACKET: A w ARNIN G

Cut the enclosed hanging bracket (cross brace) to fit across the installed

hanging brackets. Fasten the cross brace to the top and bottom hole of the To avoid possible SERIOUS INJURY from a falling aaraqe door

hang"ing brackets (Figure 3 a“nd Figure 4) using 5/16" -18x7/8" hex bolts, opener, fz?sten it SECURELY to structural supportgs %f th% garage.

5/16" lock washers and 5/16" -18 nuts. Concrete anchors MUST be used if installing any brackets into
masonry.

Figure 3 Figure 4

= Hanging Bracket
= (Cross )

.

Hanging Bracket ] 0

(Cross Brace) N

Brace
0 o Py

Lock Washer 5/16"
Nut 5/16"-18

Lock Washer 5/16"

Lock Washer 5/16'
Nut 51618 Nut 5/16™18
HARDWARE SHOWN ACTUAL SIZE REPLACEMENT PARTS
Part No. Description Qty
W 41A5807-1 8' Chain/Cable Assembly 1
41A3021 Rope 1
Hex Bolt i i
5/16"-18x7/8" Nut 5/1618 Lock Washer 5/16' 4A1008 Master Link Kit 1

OO0OO0OO0OO0OO0OOOO0OOOO0O0

Hanging Bracket (Cross Brace) Not shown actual size

© 2017, The Chamberlain Group Inc. .
114A2746G All Rights Reserved www.chamberlain.com



CHAMBERLAIN.

AVANT DE COMMENCER :

e Le chariot doit étre en position abaissée (porte fermée) durant
I'assemblage et I’installation. Si 'ouvre-porte de garage est entiérement
installé, 'ensemble de rail/ouvre-porte doit &tre démonté. Les limites de
MONTEE et de DESCENTE doivent étre réajustées aprés I'installation.

e Les supports de montage de 'ouvre-porte devront étre repositionnés en
raison de la longueur accrue du rail.

S’IL S’AGIT D’UNE INSTALLATION NOUVELLE :

Utiliser le rail avant (frontale), 'ensemble de chaine/céble et la corde plus
longue de dégagement d’urgence contenus dans ce nécessaire en
remplacement de ceux accompagnant votre ouvre-porte. Terminer
I'assemblage, I'installation et le réglage de votre ouvre-porte en conformité
avec les instructions apparaissant dans votre manuel.

S’IL S’AGIT D’UNE INSTALLATION EXISTANTE, POURSUIVRE COMME SUIT :

1. Tirer la poignée de dégagement d’urgence vers le bas, détacher ensuite
le chariot du bras de la porte.

2. Détacher I'ensemble de rail/ouvre-porte du support frontal et des
supports de montage, et placer cet ensemble sur le sol.

3. Retirer I'écrou extérieur (Figure 1) de I'arbre du chariot et mettre de
cOté.

4. Détacher les deux ensembles de maillon principal du chariot (Figure 1)
et jeter.

5. Retirer 'ensemble de poulie-guide et mettre de coté.
6. Retirer 'ensemble de chaine/cable et jeter.

7. Repousser le chariot vers la téte de I'ouvre-porte. Détacher la section
du rail avant en utilisant I'extrémité d’un tournevis pour faire levier sur
la languette extérieure de chaque coté du rail (Figure 2), puis la faire
glisser hors du rail central. Jeter le rail avant.

8. Aligner le nouveau rail frontal avec I'ensemble de rail existant, en
veillant & ce que la « fenétre découpée » soit a I'avant. S’assurer de
garder les rails le bon c6té vers le haut : le trou de boulon de la poulie-
guide au-dessus de la fenétre est plus gros sur le dessus du rail que sur
le dessous. Faire glisser le nouveau rail avant sur I'ensemble. Les
languettes sur le cOté se bloqueront en place.

9. Comme boutoir temporaire, insérez un tournevis dans lorifice situé a
10 pouces (25 cm) du devant du rail. (Figure 1) Faire glisser 'ensemble
de chariot jusqu’a ce point.

10. Localiser I'onglet du rail. Utiliser un tournevis a téte plate et soulever
I'onglet du rail a la verticale, c’est-a dire a un angle de 90 degrés
(Figure 2).

11. Se reporter au manuel d’instructions pour terminer I'assemblage, la
ré-installation et le réglage de votre ouvre-porte. REMARQUE : Avant de
suspendre l'ouvre-porte, la pose d’un support pendant supplémentaire
est nécessaire afin d’assurer la stabilité de I'ensemble. Voir « Ajout d’un
support pendant supplémentaire » au verso. (Remplacer I'ancienne
corde de dégagement d’urgence par la nouvelle corde de remplacement
plus longue.)

12. Rebranchez I'alimentation.

13. Faites tous les ajustements et testez le systeme de retournement de
securite en accordance avec le manuel d’instruction.

Nécessaire de rallonge de rail de
8 pieds (2,4 m)
Modéles 7708CB et 7708CB-P

A& AVERTISSEMENT

Pour éviter des BLESSURES GRAVES ou FATALES :

* Débranchez TOUTE alimentation électrique et piles AVANT
d’effectuer TOUT entretien ou maintenance.

ATTENTION

La porte de garage DOIT é&tre complétement fermée pendant
I'installation.

AVERTISSEMENT : Ce produit peut vous exposer & des produits
chimiques comme le plomb, reconnu par I'Etat de la Californie
comme cause de cancers, d’anomalies congénitales et d’autres
problémes liés a la reproduction. Pour plus d’informations,
visitez www.P65Warnings.ca.gov

. , Maillon de
Figure 1 Ecrou raccord
Ecrou
extérieur
Maillon de
raccord

Maillon de

Poulie raccord

Figure 2

Pour retirer le rail, faire levier sur
les deux languettes d'extrémité
du rail avant légérement
vers |'extérieur.

NOUVEAU
RAIL AVANT

L'onglet
du rail

Trou de boulon de
poulie - guide

(GARDER LE GROS
TROU SUR LE DESSUS)




AJOUT D’UN SUPPORT PENDANT SUPPLEMENTAIRE :

Découper le support pendant inclus (entretoise) pour I'adapter
transversalement sur les supports déja installés. Fixer I'entretoise sur les
trous supérieur et inférieur des supports pendants (Figure 3 et Figure 4) a
I'aide de boulon hexagonale 5/16 de po-18 x 7/8 de po, des rondelles
deblocage 5/16 de po et de écrous 5/16 de po-18.

Figure 3

Support Pendant
(Entretoise)

Boulon hexagonale de

Rondelle-frein de 5/16 de po  \% 5/16 po-18 x 7/8 de po

Ecrou de 5/16 de po-18 \Q

Rondelle-frein
de 5/16 de po
Ecrou de

5/16 de po-18

& AVERTISSEMENT

Pour éviter d’éventuelles BLESSURES GRAVES par suite de la chute
d’un ouvre-porte de garage, fixer I'ouvre-porte SOLIDEMENT aux
solives du garage. On DOIT utiliser des ancrages de béton si les
supports sont posés dans la magonnerie.

GRANDEUR REELLE DES FIXATIONS

5 © O

Ecrou de Rondelle-frein de
5/16 de po-18 5/16 de po

Boulon hexagonale
de 5/16 de po-18 x 7/8 de po

CHONOCRORONORONONONONONONG

Support pendant (Entretoise) Ne pas grandeur réelle

Figure 4
Support Pendant

(Entretoise)

Boulon hexagonale de
5/16 po-18 x 7/8 de po

Rondelle-frein
de 5/16 de po
Ecrou de

5/16 de po-18

PIECES DE REPARATION

De Piece Désignation Qté
41A5807-1 Ensemble de courroiede 8 pi (2,4 m) 1
41A3021 Corde 1
4A1008 Maillon de raccord 1

© 2017, The Chamberlain Group Inc.

114A27466G

Tous droits réservés

www.chamberlain.com



	ENGLISH
	BEFORE YOU BEGIN:
	IF THIS IS A NEW INSTALLATION
	IF THIS IS AN EXISTING INSTALLATION, CONTINUE AS FOLLOWS
	ADDING AN ADDITIONAL HANGING BRACKET
	REPLACEMENT PARTS

	FRENCH
	SPANISH


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.3
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket true
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings true
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo true
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile (None)
  /AlwaysEmbed [ true
    /ACaslon-Italic
    /ACaslon-Regular
    /ACaslon-Semibold
    /ACaslon-SemiboldItalic
    /AGaramond-Bold
    /AGaramond-BoldItalic
    /AGaramond-Italic
    /AGaramond-Regular
    /Americana
    /Americana-ExtraBold
    /AndaleMono
    /AntiqueOlive-Bold
    /AntiqueOlive-Compact
    /AntiqueOlive-Italic
    /AntiqueOlive-Roman
    /Apple-Chancery
    /AppleGothic
    /Arial-Black
    /Arial-BoldItalicMT
    /Arial-BoldMT
    /Arial-ItalicMT
    /ArialMT
    /AvantGarde-Book
    /AvantGarde-BookOblique
    /AvantGarde-Demi
    /AvantGarde-DemiOblique
    /Blackoak
    /Bookman-Demi
    /Bookman-DemiItalic
    /Bookman-Light
    /Bookman-LightItalic
    /CapitalsRegular
    /Carta
    /Caslon540LTStd-Italic
    /Caslon540LTStd-Roman
    /CenturyGothic
    /CenturyGothic-Bold
    /CenturyGothic-BoldItalic
    /CenturyGothic-Italic
    /Charcoal
    /Chicago
    /ComicSansMS
    /ComicSansMS-Bold
    /CopperplateGothic-Bold
    /CopperplateGothic-Light
    /Courier-BoldOblique
    /Courier-Oblique
    /CourierNewPS-BoldItalicMT
    /CourierNewPS-BoldMT
    /CourierNewPS-ItalicMT
    /CourierNewPSMT
    /CurlzMT
    /EdwardianScriptITC
    /EurostileLTStd
    /EurostileLTStd-Bold
    /EurostileLTStd-BoldCn
    /EurostileLTStd-BoldEx2
    /EurostileLTStd-BoldOblique
    /EurostileLTStd-Cn
    /EurostileLTStd-Demi
    /EurostileLTStd-DemiOblique
    /EurostileLTStd-Ex2
    /EurostileLTStd-Oblique
    /GadgetRegular
    /Geneva
    /Georgia
    /Georgia-Bold
    /Georgia-BoldItalic
    /Georgia-Italic
    /GillSans-BoldCondensed
    /GillSans-Condensed
    /GrHelvetica
    /GrHelveticaBold
    /Helvetica
    /Helvetica-Black
    /Helvetica-BlackOblique
    /Helvetica-Bold
    /Helvetica-BoldOblique
    /Helvetica-Condensed
    /Helvetica-Condensed-Black
    /Helvetica-Condensed-BlackObl
    /Helvetica-Condensed-Bold
    /Helvetica-Condensed-BoldObl
    /Helvetica-Condensed-LightObl
    /Helvetica-Condensed-Oblique
    /Helvetica-Narrow
    /Helvetica-Narrow-Bold
    /Helvetica-Narrow-BoldOblique
    /Helvetica-Narrow-Oblique
    /Helvetica-Oblique
    /HelveticaLTStd-Blk
    /HelveticaLTStd-BlkObl
    /HelveticaLTStd-Cond
    /HelveticaLTStd-Roman
    /HelveticaNeue-Black
    /HelveticaNeue-BlackItalic
    /HelveticaNeue-Condensed
    /HelveticaNeue-Heavy
    /HelveticaNeue-HeavyItalic
    /HelveticaNeue-Medium
    /HelveticaNeue-MediumItalic
    /HelveticaNeue-Roman
    /HoeflerText-Black
    /HoeflerText-BlackItalic
    /HoeflerText-Italic
    /HoeflerText-Ornaments
    /HoeflerText-Regular
    /Impact
    /ImpactLTStd
    /Kaufmann
    /Lithos-Black
    /Lithos-Regular
    /LucidaFax
    /LucidaFax-Demi
    /LucidaFax-DemiItalic
    /LucidaFax-Italic
    /LucidaHandwriting-Italic
    /Monaco
    /MonotypeSorts
    /NewCenturySchlbk-Bold
    /NewCenturySchlbk-BoldItalic
    /NewCenturySchlbk-Italic
    /NewCenturySchlbk-Roman
    /NewYork
    /Palatino-Bold
    /Palatino-BoldItalic
    /Palatino-Italic
    /Palatino-Roman
    /Parisian
    /ParkAvenue
    /Poetica-SuppOrnaments
    /SandRegular
    /Skia-Regular
    /Stencil
    /Tahoma
    /Tahoma-Bold
    /TechnoRegular
    /Tekton
    /Tekton-Bold
    /TextileRegular
    /TimesNewRomanPS-BoldItalicMT
    /TimesNewRomanPS-BoldMT
    /TimesNewRomanPS-ItalicMT
    /TimesNewRomanPSMT
    /Trajan-Bold
    /Trebuchet-BoldItalic
    /TrebuchetMS
    /TrebuchetMS-Bold
    /TrebuchetMS-Italic
    /VAGRoundedStd-Black
    /VAGRoundedStd-Bold
    /VAGRoundedStd-Light
    /VAGRoundedStd-Thin
    /Verdana
    /Verdana-Bold
    /Verdana-BoldItalic
    /Verdana-Italic
    /Webdings
    /Wingdings
    /WoodtypeOrnaments-Two
    /ZapfChancery-MediumItalic
    /ZapfDingbats
    /ZapfDingbatsStd
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects true
  /CheckCompliance [
    /PDFX1a:2001
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV <>
    /HUN <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [1200 1200]
  /PageSize [612.000 792.000]
>> setpagedevice


